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(HBr2e] 1X5FEE (GRSEAFIENLSMEESHSIHET) ICEEUET) LB XIIZREUET)
T RIALDOHE,  TEEZE] I ZRM4EE (SM64E3H31IH) FTCICEEET) LEETH D,

(ZBRAE10ALLE]
Rt R T
THRER| ORER| AR | R aE | AR | ZHRE K| ORER| AkER
AR AL R T 31 31| 100.0 31 31| 100.0 0 0 0.0
FLIRE 9l T A AL B P A 29 29 100.0 29 29 100.0 0 0 0.0
AL SCHOR R R 29 29 100.0 29 29 100.0 0 0 0.0
HBEREED L v (N H#EREALRL) 28 28| 100.0 28 28| 100.0 0 0 0.0
IR 27 27 100.0 27 27| 100.0 0 0 0.0
ES[ SRR R NE 25 25 100.0 25 25 100.0 0 0 0.0
B P 2P A 2 7 B 25 25 100.0 25 25 100.0 0 0 0.0
W R R 25 25 100.0 25 25 100.0 0 0 0.0
AZNTE NS 24 24| 100.0 24 24| 100.0 0 0 0.0
(EPAMIN R R i 22 22 100.0 22 22 100.0 0 0 0.0
ERN T NES 22 22| 100.0 22 22| 100.0 0 0 0.0
RS I PNES 21 21 100.0 21 21| 100.0 0 0 0.0
5] Sk L I ) E 21 21| 100.0 21 21| 100.0 0 0 0.0
TR RS 20 20{ 100.0 20 20 100.0 0 0 0.0
H ARk L R 20 20{ 100.0 20 20( 100.0 0 0 0.0
0 I R ST R 19 19| 100.0 19 19| 100.0 0 0 0.0
RIFRRATHE ¥ R B A TR L b 18 18| 100.0 18 18| 100.0 0 0 0.0
I NP 3 R A i 18 18| 100.0 18 18| 100.0 0 0 0.0
(AR A NE & 78 L P NE S 18 18| 100.0 18 18| 100.0 0 0 0.0
L U ANT 7 — KA AR A P 2 18 18| 100.0 17 17| 100.0 1 1| 100.0
ORI R 18 18| 100.0 17 17| 100.0 1 1| 100.0
R SRR AL P AL 17 17| 100.0 17 17| 100.0 0 0 0.0
BV AT = R L e 17 17| 100.0 17 17| 100.0 0 0 0.0
PP R 17 17| 100.0 17 17| 100.0 0 0 0.0
et ] [ 00 B AR AL B P AR 17 17| 100.0 17 17| 100.0 0 0 0.0
A AL S 22 (R AR AL 15 15| 100.0 14 14| 100.0 1 1| 100.0
IGL =R AL P A 14 14| 100.0 14 14| 100.0 0 0 0.0
R 5 ] Bk B P AR 14 14| 100.0 14 14| 100.0 0 0 0.0

(1~281%)



Kt " T -

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
i AT AR A B P AR 14 14| 100.0 13 13| 100.0 1 1| 100.0
R R 14 14| 100.0 14 14| 100.0 0 0 0.0
INSSE O NES 14 14| 100.0 14 14| 100.0 0 0 0.0
YMCAK- AL R AL 14 14| 100.0 14 14| 100.0 0 0 0.0
RELAKF 13 13| 100.0 13 13| 100.0 0 0 0.0
e R AR N LR 7 13 13| 100.0 12 12| 100.0 1 1| 100.0
o] o R R N 13 13| 100.0 13 13| 100.0 0 0 0.0
AL AL R B P AR 13 13| 100.0 12 12| 100.0 1 1| 100.0
HERT: 13 13| 100.0 12 12| 100.0 1 1| 100.0
B LASLR 13 13| 100.0 13 13| 100.0 0 0 0.0
K HH R B = P A5 12 12| 100.0 12 12| 100.0 0 0 0.0
PR AL SR AR P AR 12 12| 100.0 11 11| 100.0 1 1| 100.0
3R A R 12 12| 100.0 12 12| 100.0 0 0 0.0
E R PN 12 12| 100.0 12 12| 100.0 0 0 0.0
AAfES R 12 12| 100.0 12 12| 100.0 0 0 0.0
SLATIEA B 12 12| 100.0 12 12| 100.0 0 0 0.0
EAER PR R 12 12| 100.0 12 12| 100.0 0 0 0.0
) RF 122 37 S 1) K 77 11 11| 100.0 11 11| 100.0 0 0 0.0
LAHABAFAR 11 11| 100.0 11 11| 100.0 0 0 0.0
R EIR T 11 11| 100.0 11 11| 100.0 0 0 0.0
CINEIE=Y SR v NE T 58 i Nt 11 11| 100.0 11 11| 100.0 0 0 0.0
HEBAKRY 11 11| 100.0 11 11| 100.0 0 0 0.0
KHE &R 10 10| 100.0 10 10| 100.0 0 0 0.0
KIS SR AL T ALK 538 10 10| 100.0 10 10{ 100.0 0 0 0.0
BAVE f& AL 7 KT 10 10| 100.0 10 10| 100.0 0 0 0.0
Rl Lok 10 10| 100.0 10 10| 100.0 0 0 0.0
PR [ 00 it A B P 2 v g 32 31| 96.9 31 31| 100.0 1 0 0.0
FB it SKUE 7R 32 31 96.9 31 31| 100.0 1 0 0.0
R JER [ S 75 - A e T2 30 29| 96.7 29 29 100.0 1 0 0.0
A5 IR ER AL R A 29 28|  96.6 28 28| 100.0 1 0 0.0
4 ity R SRR AR A & T T R P 4% 28 27|  96.4 27 26| 96.3 1 1| 100.0
BB ER AR T 28 27| 96.4 27 27| 100.0 1 0 0.0

(29~60#%)




Kt " T -

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
TV 7 R AL R AL 27 26|  96.3 26 25| 96.2 1 1| 100.0
R TE AL P AR 27 26|  96.3 26 25| 96.2 1 1| 100.0
& LR 26 25| 96.2 25 24| 96.0 1 1| 100.0
AEHRE S R AR 24 23| 95.8 23 23 100.0 1 0 0.0
R [ kR P s 24 23| 95.8 23 22| 95.7 1 1| 100.0
R0 s L A A7 TP 1 e 23 22| 95.7 23 22| 95.7 0 0 0.0
ill& K5 22 21| 95.5 19 18| 94.7 3 3| 100.0
AR P 21 20/ 95.2 18 18| 100.0 3 2| 66.7
RIS & TT R 55 20 19| 95.0 18 18| 100.0 2 1| 50.0
<HLERRA AL R 20 19| 95.0 19 19| 100.0 1 0 0.0
" W PR PR A U R P AR 20 19|  95.0 19 19| 100.0 1 0 0.0
fi] L1 25 P kB P AR 54 51|  94.4 49 49| 100.0 5 2| 40.0
AR PN S8 P NE S 18 17| 94.4 17 16|  94.1 1 1| 100.0
R P f ik o P A% 52 49| 94.2 49 48| 98.0 3 1| 33.3
TR 7 FE SRR AR 17 16|  94.1 16 16| 100.0 1 0 0.0
BERS R AR R 2 R 2 17 16|  94.1 16 16| 100.0 1 0 0.0
IRV [EI R 17 16|  94.1 17 16|  94.1 0 0 0.0
HIw= T Loy 17 16|  94.1 16 16| 100.0 1 0 0.0
RYEALVE B =T 16 15| 93.8 16 15|  93.8 0 0 0.0
FLMRE = 2 1 Al Al g 8 B P A% 15 14| 93.3 15 14| 93.3 0 0 0.0
H AR O 2R 14 13| 92.9 13 13| 100.0 1 0 0.0
AR NES 14 13| 92.9 13 12| 923 1 1| 100.0
T 2 ol L R 7 27 25| 92.6 26 25| 96.2 1 0 0.0
HNEI#EZ LB AR 26 24| 92.3 25 24| 96.0 1 0 0.0
IR - L R 13 12| 92.3 12 12| 100.0 1 0 0.0
B MAR— R AR AL B AR 13 12| 92.3 13 12| 923 0 0 0.0
AR AR R P S 38 35 92.1 37 35| 94.6 1 0 0.0
DU ] 2 i 8 AL B P A 37 34/ 91.9 35 32| 91.4 2 2| 100.0
FUEE R AR 24 221 91.7 23 22| 95.7 1 0 0.0
U Ak e— 2 L B 2R 24 22 91.7 24 22| 91.7 0 0 0.0
BB L2z K5 12 11| 91.7 11 11| 100.0 1 0 0.0
DY [ Bt R B PR AR 12 11| 91.7 11 11| 100.0 1 0 0.0

(61~92#%)




e = 1 " 1

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
K NE TR i N 12 11| 91.7 12 11| 91.7 0 0 0.0
S ETEEAEE P AR 12 11| 91.7 11 11| 100.0 1 0 0.0
FH (3] R AT [ R 35 32 91.4 29 28|  96.6 6 4| 66.7
Jag6 ] |25 S A AR — > B A 23 21| 91.3 21 20(  95.2 2 1| 50.0
YICH i f@ AL B M ¢ 23 21| 91.3 21 20(  95.2 2 1| 50.0
R B A il S ML 7 P S R e 22 20| 90.9 22 20/ 90.9 0 0 0.0
KINE AL AR 11 10| 90.9 11 10/ 90.9 0 0 0.0
JEB I I PR AR A R P AR 11 10| 90.9 11 10| 90.9 0 0 0.0
JE I IS [EIBR R 5 11 10| 90.9 11 10/ 90.9 0 0 0.0
FEHEL IR 11 10 90.9 11 10{  90.9 0 0 0.0
R ZE « IR - ST H P P 11 10 90.9 11 10| 90.9 0 0 0.0
AEEIE R AT P AR 11 10 90.9 11 10{  90.9 0 0 0.0
Y R e A R U 32 29/ 90.6 30 29| 96.7 2 0 0.0
PR~ — AN IR AL P R 32 29| 90.6 31 29| 93.5 1 0 0.0
H AR AL e k= PR AR 41 37 90.2 40 37| 92,5 1 0 0.0
PNUUNEI R NS 20 18] 90.0 18 18| 100.0 2 0 0.0
MY J 7 I — R AR 20 18| 90.0 19 17| 89.5 1 1| 100.0
[EBE IR T M PR 10 9  90.0 9 9| 100.0 1 0 0.0
eINIF R ipNES 10 9]  90.0 10 9 90.0 0 0 0.0
BHER AL FREnEE F M AR 28 25|  89.3 27 25| 92.6 1 0 0.0
B SHE R A R P 2 5 R 26 p o R 2 18 16| 88.9 17 16|  94.1 1 0 0.0
[ AR R 18 16| 88.9 16 16| 100.0 2 0 0.0
BTN N FNEY TR P NE 18 16| 88.9 16 16| 100.0 2 0 0.0
I [ X7 17 15 88.2 17 15| 88.2 0 0 0.0
HER A K 17 15 88.2 16 15|  93.8 1 0 0.0
R =T AL HH 2 B AR A P 2 33 29| 87.9 32 28|  87.5 1 1| 100.0
R AR AR P AR 24 21| 875 22 21| 95.5 2 0 0.0
[ IR 7 16 14| 87.5 11 10 90.9 5 4| 80.0
NI =T L K o B I B 2 46 40| 87.0 42 39| 92.9 4 1| 25.0
B R AR R P AR 23 20{  87.0 22 20[  90.9 1 0 0.0
JR B AL P A (I @ AR 23 20/ 87.0 20 18| 90.0 3 2| 66.7
s FH ] B A b R P A 45 39|  86.7 38 36| 94.7 7 3| 42.9

(93~1244%)




Kt " T -

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
WEDE AR AL R P AR 37 32|  86.5 36 31| 86.1 1 1| 100.0
FOk LY MC A FEIBE Ak 57 P 22 4% 43 371 86.0 38 371 974 5 0 0.0
PNENEL S TR AL L YN E 4 35 30| 85.7 31 30|  96.8 4 0 0.0
PAAUTRARAE R P AR 21 18| 85.7 18 17| 94.4 3 1| 33.3
) AR P A 34 29|  85.3 28 28| 100.0 6 1| 16.7
TR R AR R R P AR 39 33|  84.6 32 29| 90.6 7 4| 57.1
T B IR (R PR AL B SR A2 B %) 13 11 84.6 13 11 84.6 0 0 0.0
R PR E R AL - PR B R (e LR 19 16 84.2 16 14 87.5 3 2 66.7
AT U A 50 42| 84.0 45 411 91.1 5 1| 20.0
Bt ot PR LR AR AL B A 36 30/ 83.3 35 30| 85.7 1 0 0.0
1 AR I B P AR 12 10 83.3 11 10/ 90.9 1 0 0.0
OO BE R AR50 23 19| 82.6 23 19| 82.6 0 0 0.0
JepEE Y R A AL EE P AR 17 14| 82.4 16 13| 813 1 1| 100.0
BB ER 28 23| 82.1 28 23| 82.1 0 0 0.0
HORAR R AR B H PR 61 50| 82.0 55 47|  85.5 6 3 50.0
TH P [ A R B P AR 44 36| 81.8 38 36|  94.7 6 0 0.0
H] AR AL OR B B A 44 36| 81.8 40 36| 90.0 4 0 0.0
A AR AR AR 22 18| 81.8 15 13| 86.7 7 5/ 71.4
JEB WL I R A B P A% 16 13| 81.3 14 13| 92.9 2 0 0.0
A Ny TR N 82 66| 80.5 68 63| 92.6 14 3| 21.4
A VA A U 7 P A 55 44| 80.0 48 42| 87.5 7 2|  28.6
H LS R A R R AR 30 24 80.0 29 24| 82.8 1 0 0.0
KI5 e bk 2 P P A TR AR 20 16|  80.0 18 16| 88.9 2 0 0.0
IR B AR LR B AR 20 16| 80.0 19 16| 84.2 1 0 0.0
FLAG FH A GE R PR AR AL P AR 20 16|  80.0 19 16| 84.2 1 0 0.0
BN AR AL PR P 68 54| 79.4 60 53|  88.3 8 1| 125
B R AL R Lo 24 19  79.2 17 17| 100.0 7 2| 28.6
PR AR AR 19 15|  78.9 14 13| 92.9 5 2| 40.0
DU ] R A 0 19 15| 78.9 14 14| 100.0 5 1l 20.0
7 AR R AR 33 26| 78.8 30 25|  83.3 3 1| 333
2l AR AL P AR 28 22| 78.6 27 21| 77.8 1 1| 100.0
T — Vv ERR AR AL AR 27 21| 77.8 25 20/ 80.0 2 1| 50.0

(125~156#%)




Kt = -

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
PR e R A Lo 27 21| 77.8 24 19|  79.2 3 2| 66.7
7 =1 7 R A 18 14|  77.8 13 13| 100.0 5 1| 20.0
= BRI 13 10 76.9 11 10/ 90.9 2 0 0.0
A R 7 R L B R P 51 39| 76.5 42 38| 90.5 9 1l 111
KI5 B P A P e e 42 32| 76.2 34 32| 94.1 8 0 0.0
HOXYMCA R AR P oA 29 22| 75.9 27 22|  81.5 2 0 0.0
[EPIRAPNE 58 i PN =i 44 33| 75.0 36 31| 86.1 8 2| 25.0
TUNF I AT — a5 28 21| 75.0 26 21| 80.8 2 0 0.0
By N ST L ) E 28 21| 75.0 25 20|  80.0 3 1| 333
£ R T B P A% 20 15| 75.0 18 15| 83.3 2 0 0.0
il 5 [ A AL B P AR 59 44| 74.6 48 44| 91.7 11 0 0.0
TR J [ I A R R PR AR 39 29|  74.4 30 28| 93.3 9 1l 11.1
E RS AT B AR 35 26|  74.3 28 24| 85.7 7 2| 28.6
WA et AL L R AR 19 14| 73.7 18 13| 72.2 1 1| 100.0
HIREALER L >y 15 11| 73.3 13 11| 84.6 2 0 0.0
SRRV ANE VT — L a Fh AR 26 19|  73.1 26 19| 73.1 0 0 0.0
o R Lk [ R R PR AR 22 16| 72.7 15 15| 100.0 7 1| 14.3
TR DA kS P2 R B 2 (O R ) 35 25| 71.4 31 25| 80.6 4 0 0.0
S PSR i NES 26 18|  69.2 25 18|  72.0 1 0 0.0
F ) SR MR B F 22AR 22 15|  68.2 16 13| 81.3 6 2| 33.3
SR RN AT FBE T LT 25 17| 68.0 23 17 73.9 2 0 0.0
FE A B A Ak B FH A% 31 21| 67.7 22 17| 77.3 9 4| 44.4
H RSB P A% 75 50  66.7 68 48| 70.6 7 2|  28.6
REERALRE MR 42 28|  66.7 35 27 77.1 7 1| 14.3
IR R ABU AR AL P AR 30 20(  66.7 27 200 74.1 3 0 0.0
PR EIRASR R 18 12| 66.7 16 11| 68.8 2 1| 50.0
MR AE YT — s a Bk 35 23| 65.7 27 21| 77.8 8 2| 25.0
RIRR B RAEH P AL 20 13| 65.0 17 12| 70.6 3 1| 333
BAVE i Ak B A 94 61| 64.9 78 58|  74.4 16 3| 18.8
HRCHE AL EE o (A AR 24 ) 74 48 64.9 48 42| 87.5 26 6| 23.1
OUET T B AR P A 17 11|  64.7 16 11| 688 1 0 0.0
BERS /S — 2R R () SRR AL 28 18| 64.3 21 17| 81.0 7 1| 14.3

(157~188#%)




Kt SRS SN SN[ —1——

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
R ERZEG SR 22 14| 63.6 15 11| 733 7 3| 42.9
FERY MC A E| B Ak 5 L 19 12| 63.2 14 11| 78.6 5 1| 20.0
PEEEY MCA E FR @ Ak S5 PR 2L 19 12|  63.2 15 11| 733 4 1| 25.0
HOR LR BT AR 27 17| 63.0 20 15| 75.0 7 2| 28.6
JUPN KRB EI R (k) 16 10|  62.5 11 9| 81.8 5 1| 20.0
AR SR LR P AR 16 10| 62.5 13 8| 61.5 3 2| 66.7
SR AT AR AL P AR 26 16| 61.5 25 16| 64.0 1 0 0.0
YMCAfdFEfE AL P A% 41 25| 61.0 29 25| 86.2 12 0 0.0
e H U R R A B PR e 33 20|  60.6 24 17| 70.8 9 3| 33.3
RN [58] = J  k B P A 43 26|  60.5 29 20| 69.0 14 6| 42.9
B4 ik B P A5 53 32| 60.4 45 31|  68.9 8 1| 125
R AL B 2 (3l L7 10 6| 60.0 7 6| 85.7 3 0 0.0
TR AL P AL 32 19| 59.4 23 19| 82.6 9 0 0.0
TR 1L 2 f AL B P A 61 35| 57.4 49 32|  65.3 12 3] 25.0
TLF )R BB 720 D AR 221 73 41| 56.2 61 38 62.3 12 3| 25.0
KRG HERE AL 25 (I sl 26 14|  53.8 22 12| 54.5 4 2| 50.0
TR AR B B PR A 13 7| 53.8 12 7| 58.3 1 0 0.0
T BIRE AL R A 15 8| 53.3 11 7| 63.6 4 1| 25.0
Ve B R R T 48 25| 52.1 35 24|  68.6 13 1 7.7
RBAt 2@ Ak P 22 74 35| 47.3 36 29| 80.6 38 6| 15.8
IR AL OR B B AL 51 24| 47.1 34 23| 67.6 17 1 5.9
HBHA L B 2 (A3l 27 50 23| 46.0 40 20/ 50.0 10 3 30.0
HRU L R 22 10|  45.5 11 8| 727 11 2| 18.2
ZIAERBAL T FAL 40 18|  45.0 33 18| 54.5 7 0 0.0
B EEREEY 2T — DR — ) 83 35| 42.2 66 33| 50.0 17 2| 11.8
HH R e =5 AR AR R 38 16| 42.1 28 13| 46.4 10 3 30.0
Tt SRR R AR 100 42| 42.0 61 40|  65.6 39 2 5.1
EHHE 2 Y AP RS v R 60 25| 41.7 43 21| 488 17 4| 23.5
B H A Ak B P S 60 24 40.0 24 19|  79.2 36 5/ 13.9
HETA SRR P A 40 15| 37.5 23 13| 56.5 17 2| 11.8
ERMETE R R AR 24 9| 375 17 8| 47.1 7 1| 14.3
P LV E B A AR R 30 11| 36.7 19 11| 57.9 11 0 0.0

(189~220#%)




Kt " T -

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
e FH L H R 27 40 14|  35.0 25 13| 52.0 15 1 6.7
[ESERPIG R S Ay a5 26 9| 34.6 8 6| 75.0 18 3 16.7
BB E R R A L o 38 13| 34.2 30 13| 433 8 0 0.0
SO B AL 18 6| 33.3 15 6| 40.0 3 0 0.0
N7 T AL 44 14| 31.8 35 14| 40.0 9 0 0.0
ZZAEREAL T P B IR 16 5/ 31.3 13 5| 385 3 0 0.0
FRERKT 42 13| 31.0 33 12|  36.4 9 1| 111
R 2 e Al B B B A M FE A 39 12| 30.8 20 12| 60.0 19 0 0.0
FHREIRIRAE L 2 (R R 39 12| 30.8 34 12| 35.3 5 0 0.0
A L R A LR P AR 26 8| 30.8 12 7| 58.3 14 1 7.1
S R LR B R BT AR 18 5| 27.8 7 3| 42.9 11 2| 18.2
SRS 11 3| 27.3 4 3| 75.0 7 0 0.0
L ON N8 PNE S 81 22| 27.2 50 21| 42.0 31 1 3.2
AOTE B R AR P 59 16| 27.1 54 16| 29.6 5 0 0.0
KA 2 =T 4T — T — B A% 56 14| 25.0 38 11| 28.9 18 3| 16.7
[N pNES 66 16| 24.2 45 13| 28.9 21 3| 14.3
L1 67 16| 23.9 39 10| 25.6 28 6| 21.4
BT EE AL S e 88 21| 23.9 55 20| 36.4 33 1 3.0
VU H e fk B AR 57 9] 15.8 21 7| 33.3 36 2 5.6
BRREA T ¢ AT — 2 R A AL B P S 47 70 14.9 19 5| 26.3 28 2 7.1
B VE R B 1 AL B P AR 10 1| 10.0 0 0 0.0 10 1| 10.0
FUN PR AR — ) B P 24 103 10 9.7 23 7| 30.4 80 3 3.8
v % i NE 13 1 7.7 2 1| 50.0 11 0 0.0
AARZEBEALREFT AL 15 1 6.7 13 1 7.7 2 0 0.0

(221~244%)




(SZBRE 10 AFR)

e o T A

TR A E | AR | 2Rk anEk| AR |ZRER| OBEK| AR
KR A R AL 8P 0 A 9 9/ 100.0 9 9| 100.0 0 0 0.0
5 N R LR 7 9 9| 100.0 9 9| 100.0 0 0 0.0
R/ R AR P B 9 9| 100.0 9 9| 100.0 0 0 0.0
EAn YT NES 9 9| 100.0 9 9| 100.0 0 0 0.0
PEILM KT 9 9| 100.0 9 9| 100.0 0 0 0.0
PR B R A A B PR A 9 9| 100.0 9 9| 100.0 0 0 0.0
B MR 25 A R P A 9 9| 100.0 9 9| 100.0 0 0 0.0
R AL P AR 9 9| 100.0 9 9| 100.0 0 0 0.0
VU —Z 8 & AR — Y B 2245 9 9| 100.0 8 8| 100.0 1 1| 100.0
AT AR AL R A 8 8| 100.0 7 7| 100.0 1 1| 100.0
FERS S ak =P 2 8 8| 100.0 8 8| 100.0 0 0 0.0
[E BRI R AL R R 8 8| 100.0 8 8| 100.0 0 0 0.0
B R PR R AL B P A 8 8| 100.0 8 8| 100.0 0 0 0.0
Loy i w3 P s 8 8| 100.0 8 8| 100.0 0 0 0.0
WEIVANT 7— R 8 8| 100.0 8 8| 100.0 0 0 0.0
O SRR E R AL & TT R AR 8 8| 100.0 8 8| 100.0 0 0 0.0
O AER T 8 8| 100.0 8 8| 100.0 0 0 0.0
R B AR AR 8 8| 100.0 8 8| 100.0 0 0 0.0
AR PR R 7 7| 100.0 7 7| 100.0 0 0 0.0
VR R T 7 7| 100.0 7 7| 100.0 0 0 0.0
FHE T 7 7| 100.0 7 7| 100.0 0 0 0.0
SUM KA SR (B BRHF AL ) 7 7| 100.0 7 7| 100.0 0 0 0.0
R B R 7 7| 100.0 7 7| 100.0 0 0 0.0
RSP pNES 7 7| 100.0 7 7| 100.0 0 0 0.0
U AR AR R P AR 7 7| 100.0 7 7| 100.0 0 0 0.0
AL PR B[22 5 15 P55 7 7| 100.0 7 7| 100.0 0 0 0.0
R EFR R 7 7| 100.0 7 7| 100.0 0 0 0.0
OSJL LI T A7 — )L 6 6| 100.0 6 6| 100.0 0 0 0.0
KRIFRTE PR A P 2 A RE AR 6 6| 100.0 6 6| 100.0 0 0 0.0
B IR AR L Y BT e P A 6 6| 100.0 6 6| 100.0 0 0 0.0
PR IR ST AR AR AR R 7 5 5/ 100.0 5 5| 100.0 0 0 0.0
BrEaThL v 5 5/ 100.0 4 4] 100.0 1 1| 100.0

(1~32%)




e o T A

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
TEE (L7 R R B AR AR B A 5 5| 100.0 5 5| 100.0 0 0 0.0
fi] L1 R N2 R 4 4] 100.0 4 4| 100.0 0 0 0.0
SRR SE ipNES 4 4| 100.0 4 4| 100.0 0 0 0.0
[E] B = St A B P AR B AR 4 4| 100.0 4 4| 100.0 0 0 0.0
WHH)F KT 4 4| 100.0 4 4] 100.0 0 0 0.0
KT 4 4| 100.0 4 4| 100.0 0 0 0.0
B EENR AT VR AL Y 4 4| 100.0 4 4] 100.0 0 0 0.0
PR SN S 4 4| 100.0 4 4| 100.0 0 0 0.0
AR 4 4| 100.0 4 4| 100.0 0 0 0.0
RS NS 4 4| 100.0 4 4| 100.0 0 0 0.0
I SR NG 3 3| 100.0 3 3| 100.0 0 0 0.0
Sl NE 3 3| 100.0 3 3| 100.0 0 0 0.0
R AL E R AL - PR B KA (FE @R 3 3 100.0 3 3 100.0 0 0 0.0
AL R 3 3| 100.0 3 3| 100.0 0 0 0.0
JR B AL P A (TR B R 3 3| 100.0 3 3| 100.0 0 0 0.0
i LRl R 3 3| 100.0 3 3| 100.0 0 0 0.0
AL [ K7 3 3| 100.0 3 3| 100.0 0 0 0.0
TS vy e 3 3| 100.0 3 3| 100.0 0 0 0.0
KBRS £ TSR (A FTRE L) 2 2| 100.0 0 0 0.0 2 2| 100.0
HETHE IR 2 2| 100.0 2 2| 100.0 0 0 0.0
PSR NES 2 2| 100.0 2 2| 100.0 0 0 0.0
NS ST PN 2 2| 100.0 2 2| 100.0 0 0 0.0
i ke SN = R IR 2 2| 100.0 0 0 0.0 2 2| 100.0
HR 22 8 AR 2 2| 100.0 2 2| 100.0 0 0 0.0
o P R AR E R AR 2 2| 100.0 2 2| 100.0 0 0 0.0
EAETHT AR — EPRF & H ML 2 2| 100.0 2 2| 100.0 0 0 0.0
B IS J R 1 1| 100.0 0 0 0.0 1 1| 100.0
KBRS o 7K (R S L B K0 1 1| 100.0 0 0 0.0 1 1| 100.0
RIS AER AL R A K P 1 1| 100.0 0 0 0.0 1 1| 100.0
CEH R 1 1| 100.0 0 0 0.0 1 1| 100.0
F Ak R R P AR 1 1| 100.0 0 0 0.0 1 1| 100.0
5 FEBR R P 7R 5 R Al R 2 F ) 1 1 100.0 1 1 100.0 0 0 0.0

(33~641%)




Kt SRS ST —
THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR

IS H TR SR P AR 1 1| 100.0 0 0 0.0 1 1| 100.0
~ R = T E R AL R A 9 8| 88.9 9 8| 88.9 0 0 0.0
IR A AR AL R P SRR R () — 2 v VT — T — ) 8 7 87.5 7 7 100.0 1 0 0.0
T U7 SRR P AR 7 6| 85.7 6 6| 100.0 1 0 0.0
VR o 2 - R R 6 5/ 83.3 5 5| 100.0 1 0 0.0
KRIFATR— EFRR T H Ak B P 24 5 4| 80.0 4 4| 100.0 1 0 0.0
B /SRS PE (1 e R 4 3| 75.0 3 3| 100.0 1 0 0.0
HEBOUOEEALF A F P 4 3| 75.0 4 3| 75.0 0 0 0.0
HHARERRR 4 3| 75.0 4 3] 75.0 0 0 0.0
B I EFRE AR P AL 6 4| 66.7 5 4| 80.0 1 0 0.0
LI A o B R AR 3 2| 66.7 0 0 0.0 3 2| 66.7
A E AR P 3 2| 66.7 0 0 0.0 3 2| 66.7
OO B SR AR AL B A 3 2| 66.7 0 0 0.0 3 2| 66.7
ey A AR R FRHIR 7 4| 57.1 4 4| 100.0 3 0 0.0
KPR GERERR AT R % (ki & s fE 1A 4 2 50.0 4 2 50.0 0 0 0.0
AARITE S R AL v 4 2| 50.0 4 2| 50.0 0 0 0.0
AR B R 2 1| 50.0 0 0 0.0 2 1| 50.0
AR AL P A 2 1| 50.0 0 0 0.0 2 1| 50.0
S ey ] IS P Tt AL B P A 9 4| 44.4 6 4| 66.7 3 0 0.0
BRIEEIFR IR E Y R A P 5 2| 40.0 2 2| 100.0 3 0 0.0
U R 5 2| 40.0 5 2| 40.0 0 0 0.0
KB GEREREHEAE I % (e ) 3 1| 333 0 0 0.0 3 1| 333
B A R IR L >y 3 1| 333 3 1| 333 0 0 0.0
TR R R R 8 2| 25.0 0 0 0.0 8 2| 25.0
S EAE AL AR 8 2| 25.0 3 2| 66.7 5 0 0.0
EAGES TR TN E S AN = 5 1l 20.0 0 0 0.0 5 1| 20.0
U ANE YT — Ak Y A% 6 1| 16.7 0 0 0.0 6 1| 16.7
B SR A A E SR AL E R L v 6 1| 16.7 0 0 0.0 6 1| 16.7
VEN AL NS VYN ST 4 0 0.0 0 0 0.0 4 0 0.0
HURCHE AL EE o (A AR 34 ) 3 0 0.0 0 0 0.0 3 0 0.0
I I 5 S5 R AL P AR 2 0 0.0 0 0 0.0 2 0 0.0
KBTS (A B AR ) 1 0 0.0 0 0 0.0 1 0 0.0

(65~96#%)




e = 1 " 1
TR A E | AR | 2Rk anEk| AR |ZRER| OBEK| AR
FNNER T 1 0 0.0 0 0 0.0 1 0 0.0
V=R VT — B AR 1 0 0.0 0 0 0.0 1 0 0.0
FE R G R AR 1 0 0.0 0 0 0.0 1 0 0.0
HOR [E B LR AR 1 0 0.0 0 0 0.0 1 0 0.0
HIE LR 1 0 0.0 0 0 0.0 1 0 0.0
(97~101#%)

(&8

3t 7,392| 5,283 71.5] 6,106| 5,053 82.8] 1,286 230 17.9

(3458%)



55 3 6 [l E k- E SRR i S F% R (S8 RIE)

Q& iV —h(BREZROZRE)

[ize ) I XAHERE (BFSEAA AL SFIGESHSIAE ) ICBEET) LEFEIREET) )
T RIALDOHE,  TEEZE] I ZRM4EE (SM64E3H31IH) FTCICEEET) LEETH D,

[ 2 R T 28R 12l

i\

HPEZRE LSO ERE /T 08 25T,

J

(ZBRAE10ALLE]

HepHiR = T —___

THRER| ORER| AR | R aE | AR | ZHRE K| ORER| AkER
f] L 25 Ak B P AR 45 45| 100.0 44 44| 100.0 1 1| 100.0
RIS N T NS 33 33 100.0 33 33| 100.0 0 0 0.0
LSRR 22 77 ol T A AL B P A 29 29 100.0 29 29 100.0 0 0 0.0
AR AER T 29 29| 100.0 29 29 100.0 0 0 0.0
HALSCHOR AR R 29 29 100.0 29 29 100.0 0 0 0.0
e FH ] A P A 28 28| 100.0 26 26| 100.0 2 2| 100.0
HRERREALI L Y (IR aLRL) 28 28| 100.0 28 28| 100.0 0 0 0.0
LIRREF: 27 27| 100.0 27 27| 100.0 0 0 0.0
il 5 R R e = P AR 26 26 100.0 26 26| 100.0 0 0 0.0
B 2R e P 2 2 25 25| 100.0 25 25 100.0 0 0 0.0
B Wiy - R R 25 25 100.0 25 25 100.0 0 0 0.0
[E] BRI SRR AL KT 24 24| 100.0 24 24| 100.0 0 0 0.0
R =T A AL HH TR AL 5 P 2 24 24| 100.0 24 24| 100.0 0 0 0.0
AR IR 7 24 24| 100.0 24 24| 100.0 0 0 0.0
ERN v NES 22 22| 100.0 22 22| 100.0 0 0 0.0
R SR I PNES 21 21 100.0 21 21| 100.0 0 0 0.0
EEZES - @ak Ly 21 21| 100.0 21 21| 100.0 0 0 0.0
E NI REAE R R P AR 21 21| 100.0 21 21| 100.0 0 0 0.0
o R R R P AR 21 21 100.0 21 21| 100.0 0 0 0.0
TR RS 20 20{ 100.0 20 20[ 100.0 0 0 0.0
H A 7R K L R 20 20{ 100.0 20 20 100.0 0 0 0.0
KIF RO e R R AR AL P AR LR 18 18] 100.0 18 18 100.0 0 0 0.0
46 A AR E LR AR 18 18| 100.0 18 18| 100.0 0 0 0.0
T SR R T R 18 18| 100.0 18 18| 100.0 0 0 0.0
AR VA NE & T8 NS S 18 18| 100.0 18 18| 100.0 0 0 0.0
SRR 18 18| 100.0 17 17| 100.0 1 1| 100.0
RIFE AR AL R A% 17 17| 100.0 17 17| 100.0 0 0 0.0
BV AT R AR AL T 17 17| 100.0 17 17| 100.0 0 0 0.0

(1~281%)



e = 1 " 1

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
iRl S N 17 17| 100.0 17 17| 100.0 0 0 0.0
At o] (2= 4 B R AL B P AR 17 17| 100.0 17 17| 100.0 0 0 0.0
B AR 7 — K AL P 2 16 16| 100.0 15 15| 100.0 1 1| 100.0
A S L o — 2 S L B P A 16 16| 100.0 16 16| 100.0 0 0 0.0
K= T HL oy 16 16| 100.0 16 16| 100.0 0 0 0.0
UBL) VS B A B P 22 75 1136/ S 2 15 15| 100.0 15 15| 100.0 0 0 0.0
T =V AR ALY AR 15 15| 100.0 15 15| 100.0 0 0 0.0
MR AU T — T a fa kRt 15 15| 100.0 15 15| 100.0 0 0 0.0
AR S 7 (R A AL 15 15| 100.0 14 14| 100.0 1 1| 100.0
FP A Ak [ R PR AR 15 15| 100.0 15 15| 100.0 0 0 0.0
KB E B AL R P AR 14 14| 100.0 14 14| 100.0 0 0 0.0
s AT AR A B P AR 14 14| 100.0 13 13| 100.0 1 1| 100.0
HWNEIHEZ LB E ALY P 14 14| 100.0 14 14| 100.0 0 0 0.0
R R 14 14| 100.0 14 14| 100.0 0 0 0.0
INSSE P NES 14 14| 100.0 14 14| 100.0 0 0 0.0
YMCAK-E AL AL 14 14| 100.0 14 14| 100.0 0 0 0.0
Fak 1LY MC A ] B3 ik 5 [ 224 14 14| 100.0 14 14| 100.0 0 0 0.0
RELA R 13 13| 100.0 13 13| 100.0 0 0 0.0
(Y NES EPNVTE N 13 13| 100.0 12 12| 100.0 1 1| 100.0
o] idE S RN = 13 13| 100.0 13 13| 100.0 0 0 0.0
AL 2 =P A 13 13| 100.0 12 12| 100.0 1 1| 100.0
RS 13 13| 100.0 12 12| 100.0 1 1| 100.0
BN R T 13 13| 100.0 13 13| 100.0 0 0 0.0
[EPIRAiPNE 52 -  NE 13 13| 100.0 13 13| 100.0 0 0 0.0
[ENER: NS - bNE 13 13| 100.0 12 12| 100.0 1 1| 100.0
RS fE AE R T BT AR 13 13| 100.0 13 13| 100.0 0 0 0.0
IGL R AL P A 12 12| 100.0 12 12| 100.0 0 0 0.0
KX HH R P Al e P A2 12 12| 100.0 12 12| 100.0 0 0 0.0
JEB I I AR A B P A% 12 12| 100.0 12 12| 100.0 0 0 0.0
PR | R AL B AL 12 12| 100.0 11 11| 100.0 1 1| 100.0
3R LR 12 12| 100.0 12 12| 100.0 0 0 0.0
i FH AL R 12 12| 100.0 11 11| 100.0 1 1| 100.0

(29~60#%)




Kt " T -

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
YRR PN 12 12| 100.0 12 12| 100.0 0 0 0.0
$ [ SR AR RE P AR 12 12| 100.0 12 12| 100.0 0 0 0.0
R PN 12 12| 100.0 12 12| 100.0 0 0 0.0
AAf S FERT 12 12| 100.0 12 12| 100.0 0 0 0.0
SLATEAE TP 12 12| 100.0 12 12| 100.0 0 0 0.0
E (NS TR PN 12 12| 100.0 12 12| 100.0 0 0 0.0
MRS SR PN 11 11| 100.0 11 11| 100.0 0 0 0.0
LAHAB AR 11 11| 100.0 11 11| 100.0 0 0 0.0
H A& A28 5P 11 11| 100.0 11 11| 100.0 0 0 0.0
AR R 11 11| 100.0 11 11| 100.0 0 0 0.0
CINEIEY SR fvNe T 58 -t et 11 11| 100.0 11 11| 100.0 0 0 0.0
HEARY 11 11| 100.0 11 11| 100.0 0 0 0.0
KA LR 10 10| 100.0 10 10| 100.0 0 0 0.0
KIS AR AL T ALK 538 10 10{ 100.0 10 10{ 100.0 0 0 0.0
BAVE f@ AL 7 KT 10 10| 100.0 10 10| 100.0 0 0 0.0
SR B SN 10 10| 100.0 10 10| 100.0 0 0 0.0
FlRF 0K 10 10| 100.0 10 10| 100.0 0 0 0.0
fili& R AR AR R P AR 38 37| 97.4 37 37| 100.0 1 0 0.0
AR [ 00 i A B 2 A 32 31 96.9 31 31| 100.0 1 0 0.0
Fthe SRR 32 31| 96.9 31 31| 100.0 1 0 0.0
BRL R /N — S A NE R AR AL R P AR 29 28] 96.6 29 28| 96.6 0 0 0.0
AL R A 29 28| 96.6 27 27| 100.0 2 1| 50.0
Bk ER AR 28 27| 96.4 27 27| 100.0 1 0 0.0
T VT 7 ESFRAE AL AL 27 26|  96.3 26 25| 96.2 1 1| 100.0
B AR R B P 27 26| 96.3 26 25| 96.2 1 1| 100.0
4 iy R AL B AR A & T T R 22458 27 26| 96.3 27 26/ 96.3 0 0 0.0
[EIIFSE N 26 25| 96.2 25 24| 96.0 1 1| 100.0
R At Ak P A 50 48| 96.0 49 48| 98.0 1 0 0.0
JE 48 ik B P A 24 23| 95.8 23 22| 95.7 1 1| 100.0
AbEE ST A LR 24 23| 95.8 23 23 100.0 1 0 0.0
RIFFE LA B EFARAERE BP9 7)1 23 22 95.7 23 22 95.7 0 0 0.0
T Ji [ A A 1 R P AR 23 22| 95.7 23 22| 95.7 0 0 0.0

(61~92#%)




Kt = -

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR

R [ kR P s 23 22| 95.7 22 21| 95.5 1 1| 100.0
e R 22 21| 95.5 19 18| 94.7 3 3| 100.0
IR R ABUCARAE R A% 21 20| 95.2 21 201 95.2 0 0 0.0
356 o [ SR AR AR — > B A 21 20(  95.2 21 20/ 95.2 0 0 0.0
YICH i f@ AL B ¢ 21 20[  95.2 20 20| 100.0 1 0 0.0
KRR B AR AL T AR T2 20 19|  95.0 19 19| 100.0 1 0 0.0
<BHLEHE AL 22 20 19|  95.0 19 19| 100.0 1 0 0.0
B I PR AR AR R P AR 20 19| 95.0 19 19| 100.0 1 0 0.0
P ER 19 18|  94.7 19 18| 94.7 0 0 0.0
BN AR AL R P 55 52|  94.5 53 51| 96.2 2 1| 50.0
TR AR R B P A 36 34| 94.4 36 34| 94.4 0 0 0.0
TER A P46 £ S P27 B 2 (O S ) 18 17| 94.4 18 17| 94.4 0 0 0.0
A SRR S AN ) A e <1 7 18 17| 94.4 18 17| 94.4 0 0 0.0
HOXYMCA R AR P A 18 17| 94.4 18 17| 94.4 0 0 0.0
FIRRR LA 2 AL B P A 18 17| 94.4 18 17]  94.4 0 0 0.0
TR I FE SRR P AR 17 16| 94.1 16 16| 100.0 1 0 0.0
FERS AR AR 0 17 16|  94.1 16 16| 100.0 1 0 0.0
I va [EI B R 17 16|  94.1 17 16|  94.1 0 0 0.0
AR S TP NE S i PNE 17 16|  94.1 16 15|  93.8 1 1| 100.0
RYALVE =P A 16 15|  93.8 16 15|  93.8 0 0 0.0
KB = b A ik & T T HE PR 22 A 16 15| 93.8 14 14| 100.0 2 1|  50.0
EHE 2 Y AP RS v R 16 15 93.8 16 15 93.8 0 0 0.0
NES AN ) S R A G e 2 31 29|  93.5 28 28| 100.0 3 1| 33.3
FE A B A Ak B FH A% 15 14| 93.3 13 13| 100.0 2 1| 50.0
DU ] R S 0 15 14| 93.3 13 13| 100.0 2 1| 50.0
[ IR 7 15 14| 93.3 11 10 90.9 4 4| 100.0
Wi e tE AL R A 15 14| 93.3 14 13| 92.9 1 1| 100.0
Fe IRy R 15 14| 93.3 15 14| 93.3 0 0 0.0
et o) 1 R A R R AR 15 14| 93.3 10 10| 100.0 5 4] 80.0
FHARH O R HEHIK 14 13| 92.9 13 13| 100.0 1 0 0.0
e BN AR AE R P LR 14 13| 92.9 14 13| 92.9 0 0 0.0
LS A iIRE A i 27 25| 92.6 26 24| 92.3 1 1| 100.0

(93~1244%)




Kt = -

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
i FARALIR T RS R Y 39 36| 92.3 37 35| 94.6 2 1| 50.0
A ASE AL 1 e kR PR AR 39 36|  92.3 38 36|  94.7 1 0 0.0
BHERFAL @A AR 26 24| 92.3 26 24| 92.3 0 0 0.0
PG B R 13 12| 92.3 12 12| 100.0 1 0 0.0
KBt e ML AT 1 2 (3l 27 13 12| 92.3 13 12| 92.3 0 0 0.0
PN e Y IR A i 13 12| 92.3 12 11| 91.7 1 1| 100.0
FE M AR — E AR AL AR 13 12| 92.3 13 12| 923 0 0 0.0
DU ] B 5 8 A B P A 37 34/ 91.9 35 32| 91.4 2 2| 100.0
TEE B AR R A 24 22| 91.7 23 22| 95.7 1 0 0.0
BB K 12 11| 91.7 11 11| 100.0 1 0 0.0
U ] 72 e R~ B P A 12 11 91.7 11 11| 100.0 1 0 0.0
IR A R 0 12 11| 91.7 12 11| 91.7 0 0 0.0
5 MR - R A7 A7) 12 11| 91.7 11 10{  90.9 1 1| 100.0
ZEEV NV T —a EBE R P AR 12 11| 91.7 12 11| 91.7 0 0 0.0
S HETEEALE P AL 12 11| 91.7 11 11| 100.0 1 0 0.0
FH (3] i AT 7l R 35 321 91.4 29 28|  96.6 6 4| 66.7
TR = A R R P s 34 31 91.2 33 31| 93.9 1 0 0.0
JEE IR R E B OR 11 10| 90.9 11 10| 90.9 0 0 0.0
(T E e E e 11 10| 90.9 11 10/ 90.9 0 0 0.0
R 2 - BRI - 7 B A 11 10| 90.9 11 10| 90.9 0 0 0.0
AR L Fe A 2 1 PR A 32 29| 90.6 30 29| 96.7 2 0 0.0
PN g R L s S 21 19| 90.5 21 19| 90.5 0 0 0.0
RRERALR B H MR 21 19  90.5 19 19| 100.0 2 0 0.0
BV F 2 @ AL B AR 41 37 90.2 40 36/ 90.0 1 1| 100.0
VI A 1 7 o P A 40 36| 90.0 36 34| 94.4 4 2| 50.0
R R Ak B P A KB A 30 27| 90.0 28 27| 96.4 2 0 0.0
e ot B L R R AL B P A 30 27(  90.0 30 27| 90.0 0 0 0.0
PNUUNEI NS 20 18| 90.0 18 18| 100.0 2 0 0.0
DA AUTRAEAE R PR A 20 18| 90.0 18 7] 94.4 2 1| 50.0
P PR R R AL E R T L 20 18] 90.0 17 17| 100.0 3 1| 333
IR 7 I— R A 10 9] 90.0 10 9  90.0 0 0 0.0
= BRI 10 9] 90.0 9 9| 100.0 1 0 0.0

(125~156#%)




Kt " T -

TR A E | AR | 2Rk anEk| AR |ZRER| OBEK| AR
CINFSR iPNES 10 9] 90.0 10 9  90.0 0 0 0.0
s BUrt SRR P AR 19 17| 89.5 18 17| 94.4 1 0 0.0
KIFI T AL P R AR 18 16| 88.9 16 16| 100.0 2 0 0.0
[ R 18 16| 88.9 16 16| 100.0 2 0 0.0
RN N PNE T i N 18 16| 88.9 16 16| 100.0 2 0 0.0
IR AL OR B M AR 26 23|  88.5 23 22| 95.7 3 1| 33.3
A R 17 15 88.2 17 15| 88.2 0 0 0.0
HURR R K AR R B B AR 50 44| 88.0 46 421 91.3 4 2| 50.0
SRR P2 ()t AL 2 4R ) 24 21| 875 21 21| 100.0 3 0 0.0
S R AL B P A 24 21| 87.5 22 21| 95.5 2 0 0.0
JEfEE O R A AL B P AR 16 14| 87.5 15 13|  86.7 1 1| 100.0
RIS @AY 23 20{  87.0 22 20/ 90.9 1 0 0.0
AR e~ =T AR LR 15 13| 86.7 13 11| 84.6 2 2| 100.0
TR )R B B0 O AR 8 37 32| 86.5 33 29| 87.9 4 3 75.0
JR B AL P A (T @A) 21 18|  85.7 20 18| 90.0 1 0 0.0
At He VR [ R A AL R P A 14 12|  85.7 13 12| 92.3 1 0 0.0
FLF FH S RC AR AL B P AR 14 12| 85.7 13 12| 923 1 0 0.0
YMCA AL P AL 27 23| 85.2 24 23| 95.8 3 0 0.0
USRS S E SR NG 13 11| 84.6 12 11| 917 1 0 0.0
FUAR AR AL RE P AR 38 32| 84.2 31 28| 90.3 7 4| 57.1
ZZAERRAE AL R P R 19 16| 84.2 19 16| 84.2 0 0 0.0
H] H AR AL OR B PR 43 36| 83.7 40 36/ 90.0 3 0 0.0
FK 2 [ f k2B B P AR 30 25| 83.3 26 23|  88.5 4 2| 50.0
T A AR B P AR 12 10 83.3 11 10/ 90.9 1 0 0.0
(O PNae S 7 NE 358 i NSt 23 19| 82.6 23 19| 82.6 0 0 0.0
RN 272 8] [ A A B P A 16 13| 81.3 13 12| 923 3 1| 33.3
Tt SR LR P AR 30 24| 80.0 24 23| 95.8 6 1| 16.7
7 AR R AR 33 26| 78.8 30 25|  83.3 3 1| 33.3
2 i R AR A P AR 28 22|  78.6 27 21| 77.8 1 1| 100.0
PR EIRASR R 13 10 76.9 13 10| 76.9 0 0 0.0
BERS S — 2L P 6 (A SRR 21 16|  76.2 20 16| 80.0 1 0 0.0
JUIN KA FLIAR % (@AEFFE) 12 9] 75.0 8 8| 100.0 4 1| 25.0

(157~188#%)




Kt SRS ST —

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR

BT R @A Lo 12 9] 175.0 11 9| 81.8 1 0 0.0
FEEYMCA E Bk P 2 18 12| 66.7 15 11 73.3 3 1| 33.3
FIFERZEG MR 15 10|  66.7 12 9| 75.0 3 1| 33.3
FIR R B R P AR 20 13| 65.0 17 12| 70.6 3 1| 33.3
e R 13 8| 61.5 11 7| 63.6 2 1| 50.0
BRI R A3 50 10 5/ 50.0 8 5| 62.5 2 0 0.0

(189~194#%)



(SZBRE 10 AFR)

Kt " T -

TR A E | AR | 2Rk anEk| AR |ZRER| OBEK| AR
5 s R B R 9 9| 100.0 9 9| 100.0 0 0 0.0
7 =1 7 R A 9 9] 100.0 9 9| 100.0 0 0 0.0
& IR AEAERL P AR 9 9| 100.0 9 9| 100.0 0 0 0.0
EBE R B P 9 9| 100.0 9 9| 100.0 0 0 0.0
e Lo O S A A R 2 9 9| 100.0 9 9| 100.0 0 0 0.0
R G AL o 9 9| 100.0 9 9| 100.0 0 0 0.0
PEILM KT 9 9| 100.0 9 9| 100.0 0 0 0.0
R B R R A A B P A 9 9| 100.0 9 9| 100.0 0 0 0.0
AEEE fE A0S B 9 9| 100.0 9 9| 100.0 0 0 0.0
I R A PR AR 9 9| 100.0 9 9| 100.0 0 0 0.0
PEFNAE AL B P 224 9 9| 100.0 9 9| 100.0 0 0 0.0
V) —Z 88 & AR — Y BEfH 4% 9 9| 100.0 8 8| 100.0 1 1| 100.0
HLF E ALY 8 8| 100.0 7 7| 100.0 1 1| 100.0
R ATHE 2 R B L T T 270 FR TR 8 8| 100.0 8 8| 100.0 0 0 0.0
RERS A ak =P 2 8 8| 100.0 8 8| 100.0 0 0 0.0
[E PR =P Al KR 8 8| 100.0 8 8| 100.0 0 0 0.0
R G R R A AL B P A 8 8| 100.0 8 8| 100.0 0 0 0.0
Lo ik =P e 8 8| 100.0 8 8| 100.0 0 0 0.0
I VARNT 7— K7 8 8| 100.0 8 8| 100.0 0 0 0.0
WO SRR F @ AL & TR AR 8 8| 100.0 8 8| 100.0 0 0 0.0
OB AER T 8 8| 100.0 8 8| 100.0 0 0 0.0
R B IR LR AR 8 8| 100.0 8 8| 100.0 0 0 0.0
Al B E R R 8 8| 100.0 8 8| 100.0 0 0 0.0
AR A R 7 7| 100.0 7 7| 100.0 0 0 0.0
AR R 7 7| 100.0 7 7| 100.0 0 0 0.0
FHE IR 7 7| 100.0 7 7| 100.0 0 0 0.0
JEE WL I R PR A A B P AR 7 7| 100.0 7 7| 100.0 0 0 0.0
£ R TR P A% 7 7| 100.0 7 7| 100.0 0 0 0.0
JUM RS IR (RS RHE AL ) 7 7| 100.0 7 7| 100.0 0 0 0.0
FLISR IS - At o B B A A% 7 7| 100.0 7 7| 100.0 0 0 0.0
R B R 7 7| 100.0 7 7| 100.0 0 0 0.0
PR e R A Lo 7 7| 100.0 7 7| 100.0 0 0 0.0

(1~32%)




Kt " T -

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
SHESPSE NS 7 7| 100.0 7 7| 100.0 0 0 0.0
LI AR AR R P AR 7 7| 100.0 7 7| 100.0 0 0 0.0
AL PR B 2 PR J T 2R 7 7| 100.0 7 7| 100.0 0 0 0.0
Rl [EI B 7 7| 100.0 7 7| 100.0 0 0 0.0
OSJELTeINTr T A — )1 6 6| 100.0 6 6| 100.0 0 0 0.0
KIFARB PR AL T AL RRALE 6 6| 100.0 6 6| 100.0 0 0 0.0
B IR AR Y B P A 6 6| 100.0 6 6| 100.0 0 0 0.0
R 2 e Al B B B A M FE A 5 5/ 100.0 5 5 100.0 0 0 0.0
KRIFPR T  FAE Ak B P A A i s 5 5/ 100.0 5 5 100.0 0 0 0.0
JEL YR I8 2 LR 5 5| 100.0 5 5| 100.0 0 0 0.0
FRZR) TR ST AR AR AR 7 5 5| 100.0 5 5| 100.0 0 0 0.0
BrEaT Loy 5 5/ 100.0 4 4| 100.0 1 1| 100.0
TEE (L7 R R B AR AR R A 5 5/ 100.0 5 5| 100.0 0 0 0.0
U A i kR P AR 5 5| 100.0 5 5| 100.0 0 0 0.0
KIFAR = AR RALRE 24K 4 4| 100.0 4 4] 100.0 0 0 0.0
fif] [ RS2 R 4 4] 100.0 4 4| 100.0 0 0 0.0
JUM BRI AR — > B A% 4 4| 100.0 3 3| 100.0 1 1| 100.0
H - R A R 7 4 4| 100.0 4 4| 100.0 0 0 0.0
E PR ER AL R P R L R 4 4| 100.0 4 4| 100.0 0 0 0.0
SO B AL 4 4| 100.0 4 4| 100.0 0 0 0.0
WHE)F KT 4 4| 100.0 4 4| 100.0 0 0 0.0
KT 4 4| 100.0 4 4| 100.0 0 0 0.0
B T U A 4 4| 100.0 4 4| 100.0 0 0 0.0
H 2N AL DR AL Y 4 4| 100.0 4 4| 100.0 0 0 0.0
bl o NG 4 4| 100.0 4 4| 100.0 0 0 0.0
R o ] S P A R P A 4 4| 100.0 4 4| 100.0 0 0 0.0
i B [EIBRR 2 (R S R R AL B R A2 B ) 4 4] 100.0 4 41 100.0 0 0 0.0
PG Nl R AL R AL 4 4| 100.0 4 4| 100.0 0 0 0.0
Bl ziPNES 4 4| 100.0 4 4| 100.0 0 0 0.0
U IESPNES 4 4| 100.0 4 4| 100.0 0 0 0.0
HETH AR AR R P AR 3 3| 100.0 3 3| 100.0 0 0 0.0
UM B ERAER 3 3| 100.0 3 3| 100.0 0 0 0.0

(33~641%)




Kt SRS SN SN[ —1——

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
P H AR R R 3 3| 100.0 3 3| 100.0 0 0 0.0
JE A AN K 3 3| 100.0 3 3| 100.0 0 0 0.0
M AL - A ACFE (2R 3 3| 100.0 3 3| 100.0 0 0 0.0
AL R 3 3| 100.0 3 3| 100.0 0 0 0.0
JR B AL P A (TR B R 3 3| 100.0 3 3| 100.0 0 0 0.0
i LRl R 3 3| 100.0 3 3| 100.0 0 0 0.0
AL [ K 3 3| 100.0 3 3| 100.0 0 0 0.0
ILIALIL ST K7 3 3| 100.0 3 3| 100.0 0 0 0.0
KBTI A (HLIRHR 15 A1 T2 2 2| 100.0 2 2| 100.0 0 0 0.0
PNT TR e Th N ON A= 2 2| 100.0 0 0 0.0 2 2| 100.0
HETH R R 2 2| 100.0 2 2| 100.0 0 0 0.0
NS ST 2 2| 100.0 2 2| 100.0 0 0 0.0
BT 4 AT — 2 AR AL P 2 2 2| 100.0 1 1| 100.0 1 1| 100.0
B 22 P I S R A 2Bt 2 2| 100.0 0 0 0.0 2 2| 100.0
HA 22 - 8 S AR 2 2| 100.0 2 2| 100.0 0 0 0.0
REOUEEALR M F P 2 2| 100.0 2 2| 100.0 0 0 0.0
P R AR B AR 2 2| 100.0 2 2| 100.0 0 0 0.0
EAETHT AR —Y EPRFEEH ML 2 2| 100.0 2 2| 100.0 0 0 0.0
JE R R R 1 1| 100.0 0 0 0.0 1 1| 100.0
T RN R J R A 1 1| 100.0 0 0 0.0 1 1| 100.0
KB HERE AL K 2% (U st B ) 1 1| 100.0 0 0 0.0 1 1| 100.0
KRBT 4 - HRE (OB A A0 1 1| 100.0 0 0 0.0 1 1| 100.0
RIS AL R A K PR 1 1| 100.0 0 0 0.0 1 1| 100.0
BV O B @ AL B A 1 1| 100.0 0 0 0.0 1 1| 100.0
JUPN Pt fl R 1 1| 100.0 1 1| 100.0 0 0 0.0
ElE=E 1 1| 100.0 1 1| 100.0 0 0 0.0
R AR P R 1 1| 100.0 0 0 0.0 1 1| 100.0
BB RS 1 1| 100.0 0 0 0.0 1 1| 100.0
H: A8 Ak B P A 1 1| 100.0 0 0 0.0 1 1| 100.0
PR 1 1| 100.0 1 1| 100.0 0 0 0.0
RPN L >y 1 1| 100.0 1 1| 100.0 0 0 0.0
F Ak A R R P AR 1 1| 100.0 0 0 0.0 1 1| 100.0

(65~96#%)




e = 1 " 1

THEHR| OBER| AR | ZREK| AER| AR | ZHRE K| ORER| ABR
=T e 1 1| 100.0 1 1| 100.0 0 0 0.0
~ R = T E R AL R A 9 8| 88.9 9 8| 88.9 0 0 0.0
PR I AR AR P SRR R (— 2 e LT — T — ) 8 7 87.5 7 71 100.0 1 0 0.0
FERYMCA [E Bk w5 P 2 8 7| 87.5 7 6| 85.7 1 1| 100.0
IR R AL ERE L 8 7| 875 8 7| 87.5 0 0 0.0
T U7 SRR AL P AR 7 6| 85.7 6 6| 100.0 1 0 0.0
(U= R NS 7 6| 85.7 7 6| 85.7 0 0 0.0
TR AR AL B 27 (3l 7R 7 6| 85.7 7 6| 85.7 0 0 0.0
B8 AR Ak B P A 6 5| 83.3 5 4| 80.0 1 1| 100.0
R AR MR AR 6 5| 83.3 6 5| 83.3 0 0 0.0
B IR AL P AR 5 4] 80.0 5 4| 80.0 0 0 0.0
HOLM B R 9 71 71.8 6 5| 83.3 3 2| 66.7
KINE AR AR 4 3| 75.0 4 3] 75.0 0 0 0.0
BES /S — AL P (O B AL TR 4 3| 75.0 3 3| 100.0 1 0 0.0
ZZAERRAE AL R P PR B IR 4 3| 75.0 3 3| 100.0 1 0 0.0
M R LR T R BT AR 4 3| 75.0 3 3| 100.0 1 0 0.0
HOAE LR B B A 4 3| 75.0 4 3| 75.0 0 0 0.0
WA A E R 4 3| 75.0 4 3] 75.0 0 0 0.0
TR AL P AL 7 5| 71.4 6 5/ 83.3 1 0 0.0
PRMETE R B AR 3 2| 66.7 3 2| 66.7 0 0 0.0
X AE AL AR 3 2| 66.7 2 2| 100.0 1 0 0.0
AR AT R AL P AR 7 4| 57.1 7 4| 57.1 0 0 0.0
AOIE FEE AL R 7% 4 2| 50.0 4 2| 50.0 0 0 0.0
B REE RS 2 1| 50.0 0 0 0.0 2 1| 50.0
EAUE SR WNE SN - 5 1| 20.0 0 0 0.0 5 1l 20.0
V=X VT — B AR 1 0 0.0 0 0 0.0 1 0 0.0
EE G E R AR 1 0 0.0 0 0 0.0 1 0 0.0
HRCHE LR P (A LR 34 ) 1 0 0.0 0 0 0.0 1 0 0.0
TR AR B BT 2 1 0 0.0 0 0 0.0 1 0 0.0
BT LR 1 0 0.0 0 0 0.0 1 0 0.0

(97~126#%)
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% 3 6 B iEE AL T EF R R AR (BFE
@F MR —b(FEAEZERA)

[rze | 1XA4ERE (SFISEAA 1AL SFIGESHSIEET) ICEEUET) LEEXIIZEWET) )
T 5 RiAHDOFE, TBEZ] 1TRIFEE (SFf5FE3H3IH) FTIRBEEUET) LEETH S,

IE)

(R PAESBRE ] IIIERERPE T CTh 2E I FRFICERER PR T Th o ETh D, y
(ZBRE10ALLE)
R ___ Mﬁz __ %ﬁi ___ E;E?*—”
TERER| OHR| AR [ZRE K| OER| AR [ZRE K| OkER| AtkER
GUISRE IS E PR NE S 14 14| 100.0 14 14| 100.0 0 0 0.0
R 2 R 7 6 A B A T AR 10 10| 100.0 10 10{ 100.0 0 0 0.0
HE PR IR 20 19|  95.0 17 17| 100.0 3 2| 66.7
T 7 I— R AR 10 9]  90.0 9 8| 88.9 1 1| 100.0
HNEI T HEZE BN A 12 10/ 83.3 11 10/ 90.9 1 0 0.0
R T Y A R 46 38| 82.6 41 37 90.2 5 1l 20.0
FEKILY MCA [EI B kB P A 29 23| 79.3 24 23| 95.8 5 0 0.0
INET SRS IN I < A 15 11| 733 14 11| 786 1 0 0.0
RIFRTE R IR AE b F5 P A A o A 37 27| 73.0 29 27| 93.1 8 0 0.0
B2 [ L R A LY 20 14| 70.0 17 12| 70.6 3 2| 66.7
VNI D E I AR AL P R 10 7| 70.0 10 7|1 70.0 0 0 0.0
H R S BE R B R 49 33| 67.3 35 30| 85.7 14 3| 21.4
OULT T EALF AL 17 11| 64.7 16 11| 68.8 1 0 0.0
i P [ B A A B P AR 17 11| 64.7 12 10/ 83.3 5 1l 20.0
[EPIWI P NE 52 i NE 31 20|  64.5 23 18| 178.3 8 2| 25.0
A A1 3 e kR P AR 19 12| 63.2 18 12| 66.7 1 0 0.0
B R 8 P A 13 8| 61.5 11 8| 727 2 0 0.0
H AfRAEECE B 64 39| 60.9 57 37| 64.9 7 2| 28.6
FORARALOR B B L 23 14| 60.9 16 12| 75.0 7 2| 28.6
& RARAEEE P 24 10 6| 60.0 5 4] 80.0 5 2| 40.0
R SN A e 12 7| 58.3 12 7| 58.3 0 0 0.0
SEEY N YT — S L R P A 14 8| 57.1 14 8| 57.1 0 0 0.0
TAES T fm ik P AR 25 14|  56.0 17 14| 82.4 8 0 0.0
BURAR R AR AR E B 11 6| 54.5 9 5|  55.6 2 1| 50.0
HOTR AL (s ta R 24E ) 50 27| 54.0 27 21| 77.8 23 6| 26.1
VAR AL T o PR 15 8| 53.3 12 8| 66.7 3 0 0.0
T — VIR R AL P A 12 6| 50.0 10 5/ 50.0 2 1| 50.0
VA [ A B P AR 10 5/ 50.0 5 5| 100.0 5 0 0.0

(1~28#%)



F PR — - — - — -

TERE | OB AR | ZRERK| AER| AR | ZRER| AREYR| AR
F AR SRR AL B P A 10 5/ 50.0 7 3| 42.9 3 2| 66.7
RN 772 8] 1= A A B P A 27 13| 48.1 16 8| 50.0 11 5/ 45.5
TR T SR P 27 T (0 Sl ) 17 8|  47.1 13 8| 61.5 4 0 0.0
VB2 RR T 41 19|  46.3 28 18|  64.3 13 1 7.7
KBRS A TEAL P 2 (A 7 R 50 23| 46.0 40 20| 50.0 10 3l 30.0
SUERY MC A [E] B fik e 2 11 5|  45.5 7 5| 71.4 4 0 0.0
HOXYMCA AR AL R A% 11 5/ 45.5 9 5| 55.6 2 0 0.0
BAVE L SR AL R P AL 53 24| 453 38 22| 57.9 15 2| 13.3
0] Ji 25 P i b e P A 16 7| 43.8 7 6| 85.7 9 1| 11.1
Al KB e ko P A 16 7| 43.8 9 4] 44.4 7 3| 42.9
AR RS SR A =i 21 9| 42.9 16 8| 50.0 5 1l 20.0
B EERERY 2 VT — D AT— L 83 35| 42.2 66 33| 50.0 17 2| 11.8
A H VR AR AL R P A 19 8| 42.1 11 5| 45.5 8 3| 375
AR L @ AL P A% 43 18]  41.9 31 15| 48.4 12 3| 25.0
MU AE YT — g AR LR 20 8| 40.0 12 6| 50.0 8 2| 25.0
TN R AT T — a5 10 4] 40.0 8 4] 50.0 2 0 0.0
RIS R P AL 61 23| 37.7 24 18| 75.0 37 5/ 13.5
R R R 11 4| 36.4 10 4] 40.0 1 0 0.0
TR RN R A AR 2B Lo AR 11 4| 36.4 9 4| 44.4 2 0 0.0
B AR AL R A 54 19| 35.2 19 15| 78.9 35 4 11.4
B AR TE R R P S 21 7| 33.3 14 6| 42.9 7 1| 14.3
il R A AL R P AR 21 7| 33.3 11 7| 63.6 10 0 0.0
HETH AR SRR P AR 37 12|  32.4 20 10| 50.0 17 2| 11.8
N7 FI AL 44 14| 31.8 35 14| 40.0 9 0 0.0
JB) 1 b P A% 29 9 31.0 22 9] 40.9 7 0 0.0
FEHRERKTF: 42 13| 31.0 33 12|  36.4 9 I 111
TR L~ ¥ (O L+ SRR 39 12| 308 34 12| 353 5 0 0.0
T LAl s | LA B P AR 26 8| 30.8 12 7| 58.3 14 1 7.1
B [ SR AL BT Y A 10 3] 30.0 4 1| 25.0 6 2| 33.3
BLOEALT R 11 3| 27.3 4 3| 75.0 7 0 0.0
T th LR P R 70 18|  25.7 37 17| 45.9 33 1 3.0
AOI[E BEE AL R A% 55 14| 255 50 14| 28.0 5 0 0.0

(29~601%)




T ___ T ____

TERE | OB AR | ZRERK| AER| AR | ZRER| AREYR| AR
K= 2=T 4T —J—HE [ 524 56 14| 25.0 38 11| 289 18 3l 16.7
TLF 22 B 3 372 O RAREL P 2215 36 9] 25.0 28 9| 32.1 8 0 0.0
i FATAL AR [ SR B B P 20 12 3l 25.0 5 3 60.0 7 0 0.0
J ONTTNE= T e 71 171 23.9 42 16|  38.1 29 1 3.4
7= B fE b g B 88 21| 23.9 55 20| 36.4 33 1 3.0
HOLN LR 7 13 3| 23.1 5 3| 60.0 8 0 0.0
M L7 66 15|  22.7 38 9] 23.7 28 6] 21.4
L2 N ARSI E & X (R 44 10| 227 27 6| 22.2 17 4] 235
RGNl B VR AL E R B 22 5| 22.7 4 2| 50.0 18 3l 16.7
R I 9 4 - B B R P~ A FH A 34 7| 20.6 15 7| 46.7 19 0 0.0
ZZABEFREAL TP R B IR 12 2| 16.7 10 2| 20.0 2 0 0.0
B AR E B R Ly 26 4| 15.4 19 4| 21.1 7 0 0.0
VN IR S P A 13 2| 15.4 7 2| 28.6 6 0 0.0
KR HE AL 5 (e tant ) 13 2| 154 9 0 0.0 4 2| 50.0
S<OIRE B L 14 2| 14.3 11 2| 18.2 3 0 0.0
MR AL DR B A B A 14 2| 14.3 4 0 0.0 10 2| 20.0
YMC AR AL 7L 14 2| 14.3 5 2| 40.0 9 0 0.0
H R oo = T AR AL 23 3| 13.0 15 2| 133 8 1| 125
BB 4 AT — 7 SRR P 45 5[ 11.1 18 4| 222 27 1 3.7
ZIAEFEALRL Y AL 21 2 9.5 14 2| 14.3 7 0 0.0
YU Ly VE B AR AL R AR 21 2 9.5 10 2| 20.0 11 0 0.0
DU H i Ak R P A 52 4 7.7 16 2| 12,5 36 2 5.6
i HAELH R 28 2 7.1 14 2| 14.3 14 0 0.0
HARZ &b @ AL A% 15 1 6.7 13 1 7.7 2 0 0.0
JUPN BEIRAR — Y BEFH A% 99 6 6.1 20 4] 20.0 79 2 2.5
[ENEE NG PNES 53 3 5.7 33 1 3.0 20 2| 10.0
B AL R B M 25 1 4.0 11 1 9.1 14 0 0.0
=2 N 12 0 0.0 1 0 0.0 11 0 0.0

(61~881%)




(SZBRE 10 A KiH)

T ___ T ____

TERE | OB AR | ZRERK| AER| AR | ZRER| AREYR| AR
KNG AL A 7 7| 100.0 7 7| 100.0 0 0 0.0
R B 1= 94 Bl - b & T T P A 4 4| 100.0 4 4| 100.0 0 0 0.0
IGLIEF AL P 74L 2 2| 100.0 2 2| 100.0 0 0 0.0
BV ART 7 — RS AL B S 2 2| 100.0 2 2| 100.0 0 0 0.0
HAERRAER T 2 2| 100.0 2 2| 100.0 0 0 0.0
IR b P A (I Rt 2 2| 100.0 0 0 0.0 2 2| 100.0
R R T R M R 7 P S R IR 1 1| 100.0 1 1| 100.0 0 0 0.0
RIS RO R A SRR AL 7 WP 270 TR 1 1] 100.0 1 1{ 100.0 0 0 0.0
JUM PR AERE LR 1 1| 100.0 1 1| 100.0 0 0 0.0
TR SRR AL TP A 1 1| 100.0 1 1| 100.0 0 0 0.0
e N YR AT R 1 1| 100.0 1 1| 100.0 0 0 0.0
[ BRI AR AL R 1 1| 100.0 1 1| 100.0 0 0 0.0
5N AR AR A% 1 1| 100.0 1 1| 100.0 0 0 0.0
4 iy R S AR A & T T 4% 1 1| 100.0 0 0 0.0 1 1| 100.0
Al B E FLR 1 1| 100.0 1 1| 100.0 0 0 0.0
I\ B R AR R 1 1| 100.0 1 1| 100.0 0 0 0.0
T i PRI 7 (PR MRS M L L5 P B 27 0 1 1l 100.0 1 1l 100.0 0 0 0.0
AT 25 R k2 P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
AN H T R R A A 1 1| 100.0 0 0 0.0 1 1| 100.0
FLISE 2 - il Al g R P A 8 7| 875 8 7| 87.5 0 0 0.0
R BB 7 (B2 B AR AL 7R S 7 50 9 7 77.8 9 7 77.8 0 0 0.0
FH SR AL e — 2 XL R 22 8 6| 75.0 8 6| 75.0 0 0 0.0
JEB I R A A B P AR 4 3| 75.0 4 3| 75.0 0 0 0.0
B R E R P A 4 3| 75.0 4 3| 75.0 0 0 0.0
PR A - IR AR AR 7 5| 71.4 5 4| 80.0 2 1| 50.0
HER B R 7 5| 71.4 6 5/ 83.3 1 0 0.0
] L1 25 Lk B P AR 9 6| 66.7 5 5/ 100.0 4 1| 25.0
TR L AR AL R P AR 6 4| 66.7 6 4] 66.7 0 0 0.0
e A PN 0 3 2| 66.7 0 0 0.0 3 2| 66.7
il 2 R 0l 2 Pk B Y A 3 2| 66.7 2 2| 100.0 1 0 0.0
OB SR AR A P A 3 2| 66.7 0 0 0.0 3 2| 66.7
PN R R AL S YN 5 3 60.0 3 3| 100.0 2 0 0.0

(1~324%)




T ___ T ____

TERE | OB AR | ZRERK| AER| AR | ZRER| AREYR| AR
FIFERZEGEMFR 7 4| 57.1 3 2| 66.7 4 2| 50.0
e [ 1 R A AR B P A 7 4| 57.1 5 3| 60.0 2 1| 50.0
IR AL ER L Y 7 4| 57.1 5 4| 80.0 2 0 0.0
SINSYEENEEES iy 9 5| 55.6 4 4| 100.0 5 1| 20.0
HHBIERL 9 5| 55.6 9 5| 55.6 0 0 0.0
R =T AL B A R P A 9 5| 55.6 8 4| 50.0 1 1| 100.0
Wt 70 PR L SRR AL R P A 6 3 50.0 5 3] 60.0 1 0 0.0
HARITE Y RAHL v 4 2| 50.0 4 2| 50.0 0 0 0.0
R OR A b P A 2 1| 50.0 0 0 0.0 2 1| 50.0
AR @ kR P AR 2 1| 50.0 1 1| 100.0 1 0 0.0
R SRR P AL 2 1| 50.0 0 0 0.0 2 1| 50.0
BHERZAL E@EALEE 2 1| 50.0 1 1| 100.0 1 0 0.0
[EHIE T IRTE e 2 1| 50.0 1 0 0.0 1 1| 100.0
B OUERALF 7T 2 1| 50.0 2 1| 50.0 0 0 0.0
A A HE R 7 1 AR A B P A 2 1| 50.0 2 1| 50.0 0 0 0.0
AR EREHEECE B AR 2 1| 50.0 2 1| 50.0 0 0 0.0
I3 [o] [ PR AR — > BE P 54 2 1| 50.0 0 0 0.0 2 1| 50.0
YICFH #E AL 74L 2 1| 50.0 1 0 0.0 1 1| 100.0
JF B A LR R AR 7 3| 42.9 6 3| 50.0 1 0 0.0
PR EIRARSR RS 5 2| 40.0 3 1| 333 2 1| 50.0
BRUE [E BRI E Y R AR P A 5 2| 40.0 2 2| 100.0 3 0 0.0
L EiNES 5 2| 40.0 5 2| 40.0 0 0 0.0
M AT AR AL R P A 9 3| 33.3 8 3| 37.5 1 0 0.0
UL VR B RE P 25 25 31 3 /S22 3 1| 333 2 1| 50.0 1 0 0.0
7= BRI R 3 1| 333 2 1| 50.0 1 0 0.0
PR~ — A E R AR AL R AR 3 1| 333 2 1| 50.0 1 0 0.0
B /S — A KL AL PR (AR 7 2| 28.6 1 1| 100.0 6 1| 16.7
JEE R I R Bl R P A 4 1l 25.0 2 1| 50.0 2 0 0.0
FJUPN R R R (FE k) 4 1| 250 3 1| 333 1 0 0.0
P8 1 AR R R 4 1| 250 1 1| 100.0 3 0 0.0
I ESpNESY TR 1 N 4 1| 25.0 1 1| 100.0 3 0 0.0
R ER m @ AL E R Ly Y 4 1| 25.0 0 0 0.0 4 1l 25.0

(33~641%)




— s e BEA

R TERE | OB AR | ZRERK| AER| AR | ZRER| AREYR| AR
RE R ALEE PP 5 1| 20.0 2 1| 50.0 3 0 0.0
RRZEGEAAL Y 5 1l 20.0 3 0 0.0 2 1| 50.0
Bk AR A= 5 1l 20.0 1 1| 100.0 4 0 0.0
VAR YT — 3 a AG kB Y A5 6 1| 16.7 0 0 0.0 6 1| 16.7
HE P S e A [ AR AL R L s 6 1| 16.7 0 0 0.0 6 1| 16.7
RPN R et 7 1| 143 0 0 0.0 7 1| 143
H SRR R R A 7 1| 143 0 0 0.0 7 1| 143
EPRE Y R ABCARAE R 9 0 0.0 6 0 0.0 3 0 0.0
BAVE IR B AL P AL 9 0 0.0 0 0 0.0 9 0 0.0
S E AL H AL 5 0 0.0 1 0 0.0 4 0 0.0
I i 1T R [ AR A A B PR AR 5 0 0.0 2 0 0.0 3 0 0.0
VEY Ve LS NN 4 0 0.0 0 0 0.0 4 0 0.0
WAAS T e R ik A B P AR 4 0 0.0 4 0 0.0 0 0 0.0
I R B 2 (S A L ) 3 0 0.0 0 0 0.0 3 0 0.0
RBRAERE G AL K2 (I et S ) 2 0 0.0 0 0 0.0 2 0 0.0
KB REARR AL K 5 (ISR & kR AL 2R 2 0 0.0 2 0 0.0 0 0 0.0
RIFA 38 Fm 1k = P A A VR AR 2 0 0.0 2 0 0.0 0 0 0.0
T BAtE LR AR 2 0 0.0 0 0 0.0 2 0 0.0
JIEIE 15 S T AR A B P AR 2 0 0.0 0 0 0.0 2 0 0.0
B R AT L Y 2 0 0.0 2 0 0.0 0 0 0.0
SRR P20 (St kL) 34E 1) 2 0 0.0 0 0 0.0 2 0 0.0
KRB A AL P (AR AR 7 22 1 0 0.0 0 0 0.0 1 0 0.0
RIFAR = [ FR R T Rk P A 1 0 0.0 0 0 0.0 1 0 0.0
F)NEAR 1 0 0.0 0 0 0.0 1 0 0.0
VR IS 27 LR 1 0 0.0 0 0 0.0 1 0 0.0
DAAUTRAEAERE P A% 1 0 0.0 0 0 0.0 1 0 0.0
[EIPRE TR T B AL 1 0 0.0 0 0 0.0 1 0 0.0
H: A b B P A 1 0 0.0 0 0 0.0 1 0 0.0
RO [E B AR AL B A 1 0 0.0 0 0 0.0 1 0 0.0
EhPNES 1 0 0.0 0 0 0.0 1 0 0.0
B I EFRAE AL P AR 1 0 0.0 0 0 0.0 1 0 0.0
AbfiE Y R AR R 1 0 0.0 1 0 0.0 0 0 0.0

(65~964%)




BRI, L
TRER| OE| O | ZRE| ARE | O | ZRE | akE k| AR
FEESY MC A E B AL P 7L 1 0 0.0 0 0 0.0 1 0 0.0
TR 8 1l P 7 B P 2 AR 1 0 0.0 0 0 0.0 1 0 0.0
BT Loy 1 0 0.0 0 0 0.0 1 0 0.0
(97~991%)

(A&
3t 2,908| 1,092 37.6| 1,843 963 52.3| 1,065 129 12.1

(187#%)



# 3 6 [ ik E AR R AR A B SRR (B4 RIIR)
OFFHERRFEL —F (EHA0RF 2EBABHE T HRF %)

(HBr2e] 1X5FEE (GRSEAFIENLSMEESHSIHET) ICEEUET) LB XIIZREUET)
T RIALDOHE,  TEEZE] I ZRM4EE (SM64E3H31IH) FTCICEEET) LEETH D,

(ZBRAE10ALLE]
e R T

TRER| AR E K| AR | 2RE k| akE k| AR |ZRE K| OBEK| AR
A2 b i 2 AR 39 39| 100.0 39 39 100.0 0 0 0.0
BB e A 38 38 100.0 38 38| 100.0 0 0 0.0
B A E PR 36 36| 100.0 36 36| 100.0 0 0 0.0
IRPIALRE = B A% 34 34 100.0 34 34 100.0 0 0 0.0
T8 DA SR 33 33| 100.0 33 33| 100.0 0 0 0.0
FHES I i3 5 A 31 31| 100.0 31 31| 100.0 0 0 0.0
IR 1 3 AL 30 30{ 100.0 29 29 100.0 1 1| 100.0
e B A 1R S AR 29 29| 100.0 28 28| 100.0 1 1| 100.0
A 1 B v 2 AR 29 29 100.0 29 29 100.0 0 0 0.0
TR P 1 S R 27 27| 100.0 27 27| 100.0 0 0 0.0
BRI 27 27| 100.0 27 27| 100.0 0 0 0.0
P L i 25 25 100.0 25 25 100.0 0 0 0.0
PCEL TR A U 24 24| 100.0 24 24| 100.0 0 0 0.0
IR B 75 B 1 S A 24 24| 100.0 23 23| 100.0 1 1| 100.0
BEBFAL B 2 AR 24 24| 100.0 24 24| 100.0 0 0 0.0
T 37 ) IR v 5 A5 22 22| 100.0 22 22| 100.0 0 0 0.0
AT A mEFR 22 22 100.0 22 22| 100.0 0 0 0.0
TRl B i S AR 22 22 100.0 22 22| 100.0 0 0 0.0
JEJEL i S5 A5 22 22 100.0 21 21| 100.0 1 1| 100.0
AR Il 1 S5 AR 21 21 100.0 21 21| 100.0 0 0 0.0
FEEE T 21 21 100.0 21 21| 100.0 0 0 0.0
[EENCE Ty 21 21 100.0 21 21| 100.0 0 0 0.0
BERR & 5 21 21| 100.0 21 21| 100.0 0 0 0.0
o ik e S R 19 19| 100.0 17 17| 100.0 2 2| 100.0
PR B 15 S AR 19 19| 100.0 19 19| 100.0 0 0 0.0
I A i v S A 19 19| 100.0 19 19| 100.0 0 0 0.0
H B PR = S AR 19 19| 100.0 19 19| 100.0 0 0 0.0
A = R 18 18| 100.0 18 18| 100.0 0 0 0.0
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sepi s W A B A
TR A E | AR | 2Rk anEk| AR |ZRER| OBEK| AR
BB 5 5 AR 9 9] 100.0 9 9| 100.0 0 0 0.0
CINEEY N e i 8 8| 100.0 8 8| 100.0 0 0 0.0
IR i S R 7 7| 100.0 6 6| 100.0 1 1| 100.0
LR & S A (R ER) 7 7| 100.0 7 7| 100.0 0 0 0.0
59 1 2T 1 S AR 6 6| 100.0 6 6| 100.0 0 0 0.0
B[] T L 1 AR 6 6| 100.0 6 6| 100.0 0 0 0.0
AL B T 1 S L 6 6| 100.0 6 6| 100.0 0 0 0.0
o0t FR R e S A 5 5 100.0 5 5| 100.0 0 0 0.0
TR AR 5 5/ 100.0 5 5| 100.0 0 0 0.0
VB 2 1 S AR 5 5| 100.0 5 5| 100.0 0 0 0.0
B Gk i S R 2 2| 100.0 0 0 0.0 2 2| 100.0
JEIBS R B v B AR (R} 2 2| 100.0 2 2| 100.0 0 0 0.0
JEIBSG R 5 v S A% 1 1| 100.0 0 0 0.0 1 1| 100.0
B i SR 1 1| 100.0 0 0 0.0 1 1| 100.0
Fhem SR (FHE 8 7| 87.5 8 7| 87.5 0 0 0.0
HRIR e AR 6 5/ 83.3 5 5| 100.0 1 0 0.0
1 R ol 1 S AR 8 6| 75.0 7 6| 85.7 1 0 0.0
A H e E R 4 3| 75.0 3 2| 66.7 1 1| 100.0
A R v S A 4 3| 75.0 4 3| 75.0 0 0 0.0
TR e S R 2 1| 50.0 0 0 0.0 2 1| 50.0
LRI LA 18 AR 2 1| 50.0 0 0 0.0 2 1| 50.0
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# 2,283| 2,113| 92.6] 2,107| 2,020 95.9] 176 93| 52.8
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